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1. Find the simple interest on

(a) Rs. 2500 at 15% per annum for 2 years.

1 1
(b) Rs. 3000 at 17§ % per annum for 15

years.

o Watch Video Solution

2. Calculate the simple interest on
(@) Rs. 5235 at 8% per annum for 1 year and 8

months.


https://dl.doubtnut.com/l/_1rgB1Ok0dhTC
https://dl.doubtnut.com/l/_f5ZRMPMwGLa9

2
(b) Rs. 8125 at 143 per annum for 2 years and

3 months.

° Watch Video Solution

3. Find the simple interest on Rs. 7300 at 15%

per annum from April 28 to November 4.

A. Rs 500

B. Rs 540

C.Rs 570

D. Rs 550


https://dl.doubtnut.com/l/_f5ZRMPMwGLa9
https://dl.doubtnut.com/l/_idfsOdxnwG9s

Answer: C

o Watch Video Solution

4. Find the sum to be invested to earn a
simple interest of Rs. 360 in 8 months at the

rate of 15% per annum.

o Watch Video Solution

5. A cetain sum has been borrowed at 16% per

annum under simple interest. If the sum


https://dl.doubtnut.com/l/_idfsOdxnwG9s
https://dl.doubtnut.com/l/_vvTKe55ojaUf
https://dl.doubtnut.com/l/_MGJvGoXdDEsi

amounts to Rs. 12000 in 1 year and 3 months,

find the sum borrowed.

° Watch Video Solution

6. Find the rate of simple interest per annum,

if a sum borrowed becomes double in 5 years.

o Watch Video Solution

7. What time will it take for a sum to amount

to three times itself at 12% per annum under


https://dl.doubtnut.com/l/_MGJvGoXdDEsi
https://dl.doubtnut.com/l/_gBj5zwYbcHmq
https://dl.doubtnut.com/l/_U6FfwTzZNCGX

simple interest ?

o Watch Video Solution

8. A sum amounts to Rs. 5600 in 4 years and
Rs. 6400 in 6 years at a certain rate of simple
interest. Find the rate of interest per annum

and the sum.

° Watch Video Solution



https://dl.doubtnut.com/l/_U6FfwTzZNCGX
https://dl.doubtnut.com/l/_0IaWgrbTeHwU

9. Ramu borrowed Rs35000 from Somu. A part
of the sum is borrowed at 10% per annum
under simple interest for 4 years and the
remaining part at 11% per annum under
: : 1

simple interest for (4)5 years. If the total
interest earned by Somu is Rs15900, then find

the sum borrowed at each rate.

o Watch Video Solution



https://dl.doubtnut.com/l/_SIVbWkLW4pek

10. A man who borrowed a certain sum agrees
to repay it by paying Rs. 4032 at the end of the
first year and Rs. 10075 at the end of the
second year. If the rate of simple interest is

12% per annum, find the sum borrowed.

o Watch Video Solution

11. The simple interest on Rs. 3000 at R% in
2years equals to the simple interest on Rs.

2000 at 10% per annum in 3 years. Find the


https://dl.doubtnut.com/l/_9OjC8kOTBi1M
https://dl.doubtnut.com/l/_p7LptvXmlP8I

simple interest (in Rs.) on Rs. 5000 at R% per

annum for 4 years.

° Watch Video Solution

12. A certain sum doubles itself in 4 years. Find

the time taken to it to become thrice itself.

o Watch Video Solution

13. Sailesh lends a sum of Rs. 6000 to Kalyan at

the rate of 10% per annum compounded


https://dl.doubtnut.com/l/_p7LptvXmlP8I
https://dl.doubtnut.com/l/_4m8ZGLKTtX8b
https://dl.doubtnut.com/l/_N8eEMztV7bqe

annually. Find the amount at the end of 2

years.

° Watch Video Solution

14. Srikanth borrowed a sum of Rs. 12000 from
a finance company at the rate of 20% per
annum under compound interest,
compounded annually. Find the amount and

C.l. for a period of 2 years.

° Watch Video Solution



https://dl.doubtnut.com/l/_N8eEMztV7bqe
https://dl.doubtnut.com/l/_U60BOEmefRzY
https://dl.doubtnut.com/l/_PkvykFhYagV6

15. A person borrowed a sum of Rs. 8000 at
the rate of 10% per annum compounded semi-
annually. Find the amount and compound

interest for a period of one year.

o Watch Video Solution

16. A borrowed a sum of Rs. 4000 from B at the
rate of 10% per annum under simple interest.
Immediately A gave this money to C at the

same rate under compound interest


https://dl.doubtnut.com/l/_PkvykFhYagV6
https://dl.doubtnut.com/l/_d8J7uu44WoOw

compounded quarterly. Find the profit of A in

doing so after 6 months.

° Watch Video Solution

17.Q and R borrowed Rs. 26000 and Rs. 25000
respectively, for a period of 2 years. Q paid
simple interest at the rate of 2% per annum,
while R paid compound interest at the same
rate, compounded annually. Who paid more

interest and by how much ?

° Watch Video Solution



https://dl.doubtnut.com/l/_d8J7uu44WoOw
https://dl.doubtnut.com/l/_TWJWk3v4SX0H

18. Varun started a business with an initial
investment of Rs. 300000. In the first first year,
he incurred a loss of 3%. So he invested the
remaining amount in the bank at 4% per
annum for the second year and at 5% per
annum for the third year under compound
interest compounded annually. Find the

amount.

o Watch Video Solution



https://dl.doubtnut.com/l/_TWJWk3v4SX0H
https://dl.doubtnut.com/l/_qYmgCy6JYD2D

19. The population of a city increases at the
rate of 10% per annum. Find the population of
the city in the year 2007 if its population in

2005 was 2 crores.

o Watch Video Solution

20. The price value of the share of a company
increased at the rate of 20% in a year and

decreased at the rate of 10% in the next year.


https://dl.doubtnut.com/l/_p9YWJtCciLIq
https://dl.doubtnut.com/l/_vSxNUHQLDjPa

If the present value of the share is Rs. 1000,

then what will be its value after 2 years ?

° Watch Video Solution

21. Mahesh bought a house for Rs. 200000. At
the end of the first year, he sold it at a loss of
10% on his investment. He invested the money
thus obtained at 20% per annum compound
interest for 2 years. The value this investment

would amount to (in Rs.)

° Watch Video Solution



https://dl.doubtnut.com/l/_vSxNUHQLDjPa
https://dl.doubtnut.com/l/_Er17w7jKasuA

Very Short Answer Type Questions

1. In what time will a sum double itself at 4%

per annum, at simple interest ?

O Watch Video Solution

2. The extra money paid by a borrower for

using another person's money is called

o Watch Video Solution



https://dl.doubtnut.com/l/_Er17w7jKasuA
https://dl.doubtnut.com/l/_x44lIPGoDXsT
https://dl.doubtnut.com/l/_fMpsXXlnF8i3

3. Simple interest is calculated on the
(original) principal for the entire loan period.

(True or False)

o Watch Video Solution

4. In calculating the time for charging the
interest, the day on which the money is
borrowed and the day on which money is

repaid are included. True or False ?

o Watch Video Solution



https://dl.doubtnut.com/l/_fMpsXXlnF8i3
https://dl.doubtnut.com/l/_WmhvUQdy9z4G
https://dl.doubtnut.com/l/_kLaDXrJDotvq

5. Simple interest on a principal of Rs. 100 for 2

years at the rate of 5% per annum is

o Watch Video Solution

6. When the interest is calculated annually,
simple interest and compound interest are

equal for the first year.

o Watch Video Solution



https://dl.doubtnut.com/l/_kLaDXrJDotvq
https://dl.doubtnut.com/l/_3vVddVKscIkh
https://dl.doubtnut.com/l/_B4AzUNCJAxQn
https://dl.doubtnut.com/l/_y7kdlFLFu6Z9

7. A sum of Rs. 2000 amounts to Rs. 3000 in
two years at simple interst. Interest for three

years is

o Watch Video Solution

8. In compound interest, principal changes

periodically.

o Watch Video Solution



https://dl.doubtnut.com/l/_y7kdlFLFu6Z9
https://dl.doubtnut.com/l/_4y7PxZtCwBw7

9. Find the compound interest on Rs. 1000 at

5% per annum for one year, compounded

annually.

A.Rs 60

B.Rs 30

C.Rs 40

D. Rs 50

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_Bnk1vGe2CMpw

10. Compound interest for one year on Rs. 400
calculatedd half yearly at 10% per annum is Rs.

84.

o Watch Video Solution

1. A person borrowed Rs. 100 at the rate of
10% per annum, compounded annually for 2
years. The amount he has to pay after 2 years

is Rs. 121.

° Watch Video Solution



https://dl.doubtnut.com/l/_wdZ8JIeCgXHm
https://dl.doubtnut.com/l/_uYpC7ZkwZgsF

12. A" provides loan at the rate of 7% per
annum, simple interest and 'B' provides loan at
the rate of 5% per annum, compound interest.

Between 'A' and 'B', who gets more profit ?

o Watch Video Solution

13. The time period after which interest is
added each time to form a new principal is

called

o Watch Video Solution



https://dl.doubtnut.com/l/_uYpC7ZkwZgsF
https://dl.doubtnut.com/l/_418z7vZoRoNC
https://dl.doubtnut.com/l/_rDjyvUWWjRhR

14. Bank A provides loan at 5% per annum at
simple interest and Bank B provides loan at
the same rate for the same period,
compounded annually. Then, which bank is

preferable for a person to take a loan ?

o Watch Video Solution

15.If P is the principal, R is the rate of interest

per annum and n is the time period, find the


https://dl.doubtnut.com/l/_rDjyvUWWjRhR
https://dl.doubtnut.com/l/_RPLJ02wMhqqA
https://dl.doubtnut.com/l/_q178KE1HPFRi

amount at the end of the nth year if the

interest is compounded yearly.

° Watch Video Solution

16. A certain sum becomes Rs. 2400 in 10 years
at the rate of 2% per annum under simple

interest. Find the sum.

° Watch Video Solution



https://dl.doubtnut.com/l/_q178KE1HPFRi
https://dl.doubtnut.com/l/_KmIPH1uea638

17. A certain sum amounts to Rs. 320 at 6% per
anuum simple interest and to Rs. 360 at 8%

per annum simple interest. Find the principal.

o Watch Video Solution

18. If P = Rs. 2500, R=20% per annum, then in
what time will it amount to Rs. 3600 at

compound interest ?

o Watch Video Solution



https://dl.doubtnut.com/l/_l1zXQ56kIAJi
https://dl.doubtnut.com/l/_BlsqjKWF5Xv9
https://dl.doubtnut.com/l/_OSfl0mEi5kiq

19. A certain sum amounts to Rs. 4800 in 4
years and to Rs. 5250 in 5 years at simple

interst. Find the interest for 2 years.

o Watch Video Solution

20. In how many years, will Rs. 2200 amount to
Rs. 2266 when money is borrowed at 2% per

annum at simple interest ?

o Watch Video Solution



https://dl.doubtnut.com/l/_OSfl0mEi5kiq
https://dl.doubtnut.com/l/_Rq6VKjLYmJyK
https://dl.doubtnut.com/l/_m2zC5Y0vOI5F

21. If P=Rs. 5550 and R=12% per annum simple
interest. In what time will it amount to Rs.

6882 ?

o Watch Video Solution

22. The amount and compound interest on Rs.
2500 for 2years at 10% per annum respectively

are (in rupees) and

o Watch Video Solution



https://dl.doubtnut.com/l/_m2zC5Y0vOI5F
https://dl.doubtnut.com/l/_Hqxb8MXAKFPx

23. Given Rs. 5 becomes Rs. 25 at the rate of
8% per annum simple interest. Find the time

period. (in years)

o Watch Video Solution

24. Determine the rate of inerest for a sum

343

that —
at becomes 516

times itself in 3 years

interest compounded annually.

o Watch Video Solution



https://dl.doubtnut.com/l/_JhYt5H9Iaxa7
https://dl.doubtnut.com/l/_7YrbWLnwHbCV
https://dl.doubtnut.com/l/_H6xnxqMh9WCd

25. Find the simple interest on Rs. 3250 at 5%
per annum for the period from 10th March to

22nd May of the same year.

o Watch Video Solution

26. A sum of money invested at compound
interest triples itself in five years. In how many
years will it become 27 times itself at the same

rate of compound interest ?

o Watch Video Solution



https://dl.doubtnut.com/l/_H6xnxqMh9WCd
https://dl.doubtnut.com/l/_zExilLZDwORB

27.If P=Rs. 6000 and R=5% per annum, find the
amount in 1 year interest compounded half

yearly.

o Watch Video Solution

28. Find the difference between simple
interest and compound interest, if P=Rs.

35000, R=4% per annum and n=3 years.

o Watch Video Solution



https://dl.doubtnut.com/l/_TUypj8Xq3WAo
https://dl.doubtnut.com/l/_8a3Z8oeklECQ
https://dl.doubtnut.com/l/_7OaQstYtjvEj

29. A person borrows Rs. 2000 at 20% per
annum at Cl. compounded half yearly.
Immediately he lends it to another person at
the same rate on the condition that the
interest is compounded for every 1 th year.
Find the amount gained by the first person in

1

3 vear.

o Watch Video Solution

30. The difference between the simple interest

received from two different banks on Rs. 2000


https://dl.doubtnut.com/l/_7OaQstYtjvEj
https://dl.doubtnut.com/l/_jGufhTTHolxk

for 2 years is Rs. 30, the difference between

their rates of interest is

° Watch Video Solution

Short Answer Type Questions

1. What is the compound interest on Rs. 38000

3
at 20% per annum for a period of 5 years

compounded semi-annually ?

° Watch Video Solution



https://dl.doubtnut.com/l/_jGufhTTHolxk
https://dl.doubtnut.com/l/_trPJ8hN5Itcm
https://dl.doubtnut.com/l/_OpcOv2dMuDj5

2. Ramu invested Rs. 12000 in a finance
company at 10% per annum, interest is
compounded annually for 3 years and Ravi
invested Rs. 12000 for the same period at 15%
per anuum, interest compounded annually.

The total interest paid to Rammu is

o Watch Video Solution

3. Ramu invested Rs. 12000 in a finance
company at 10% per annum, interest is

compounded annually for 3 years and Ravi


https://dl.doubtnut.com/l/_OpcOv2dMuDj5
https://dl.doubtnut.com/l/_xPNBxBonghM1

invested Rs. 12000 for the same period at 15%
per anuum, interest compounded annually.

The total interest paid to Ravi is

o Watch Video Solution

4. Ramu invested Rs. 12000 in a finance
company at 10% per annum, interest is
compounded annually for 3 years and Ravi
invested Rs. 12000 for the same period at 15%

per anuum, interest compounded annually.


https://dl.doubtnut.com/l/_xPNBxBonghM1
https://dl.doubtnut.com/l/_AVnCnZOwmQ7S

Difference in the amounts paid to them after 3

years is

° Watch Video Solution

5. P= Rs. 2000 and R= 3% per annum, find the

1
amount in 5 @ year approximately, interest

compounded quarterly.

° Watch Video Solution



https://dl.doubtnut.com/l/_AVnCnZOwmQ7S
https://dl.doubtnut.com/l/_Q5tOlS2kCEXj

6. The population of a village increases at a
rate of 5% every year. If the present
population of the village is 5620, find the

population after 1 year.

o Watch Video Solution

7.Ten thousand volunteers are registered with
a charitable trust. The number of volunteers
increases at the rate of 4% for every six

months. Find the time period at the end of


https://dl.doubtnut.com/l/_Vh0qeP8bPKgR
https://dl.doubtnut.com/l/_X8cbT7l1qMx8

which the total number of volunteers becomes

10816.

° Watch Video Solution

8. A person borrows Rs. 20000 for 2 years at
compound interest. The money6 lender gives
two options. The first is at 3% per annum, the
second option is at 2% for the first year and at
4% for the second year. Which option is

profitable to the borrower and by how much /

° Watch Video Solution



https://dl.doubtnut.com/l/_X8cbT7l1qMx8
https://dl.doubtnut.com/l/_2pVdVpHP8j4o

9. The simple interest on a certain sum of
money is 16 of the principal and the number

of months is equal to the rate per cent. Find

the rate per annum and the time period.

o Watch Video Solution

10. What sum of money lent at 2% per annum
under S.I. will yield the same interest in 3 years
as Rs. 3600 yields in 7 years at the rate of 3%

per annum S.I. ?


https://dl.doubtnut.com/l/_2pVdVpHP8j4o
https://dl.doubtnut.com/l/_Cvirkg2q9KF9
https://dl.doubtnut.com/l/_RzbqCKYtHqJl

° Watch Video Solution

11. The simple interest and compound interest
on a certain sum for 2 years are Rs. 800 and
Rs. 880 respectively. The rate of interests (in %
per annum ) on both the sums is the same. If
the interest on the sum lent at compound
interest is compounded annually, find the rate

of interest (in % per annum).

° Watch Video Solution



https://dl.doubtnut.com/l/_RzbqCKYtHqJl
https://dl.doubtnut.com/l/_OPRWkhnCkuTx
https://dl.doubtnut.com/l/_YrSJSH9anrKy

12. Ramu lent Rs. 2800 to Suresh at 2% per
annum at simple interest. After 5 years, Suresh
repaid the debt by giving a cycle and Rs. 2500.

What is the value of the cycle ?

° Watch Video Solution

13. A certain sum quadruples in 3 years at
compound interest, interest being
compounded annually. In how may years will it

become 64 times itself ?

° Watch Video Solution



https://dl.doubtnut.com/l/_YrSJSH9anrKy
https://dl.doubtnut.com/l/_8WxksUCDPvNP

14. Ramu lent a part of Rs. 3000 at 2% per
annum at S.I. and the remaining part at 3% per
annum at S.I. At the end of 3 years he received
an amount of Rs. 3240. How much did he lend

at 3% ?

o Watch Video Solution

15. The simple interest on Rs. 1800 at R% per
annum for 2 years is equal to the simple

interest on Rs. 4800 at 15% per annum for 1


https://dl.doubtnut.com/l/_8WxksUCDPvNP
https://dl.doubtnut.com/l/_rRaBmSPjJfqF
https://dl.doubtnut.com/l/_VKF3jTgvRIbU

year. Find the simple interest (in Rs. ) on Rs.

2400 for 3 years at R% per annum.

° Watch Video Solution

Easay Type Questions

1. Given that carbon-14 (C}4) decays at a
constant rate in such a way that it is reduced
to 25% in 1244 years. Find the age of a tree in

which the carbon is only 6.25% of the original.

o Watch Video Solution



https://dl.doubtnut.com/l/_VKF3jTgvRIbU
https://dl.doubtnut.com/l/_sk4igVMxESYW

2. Raju borrowed Rs. 3500 from Giri at 10% per
annum, under simple interest. After 2 years
when Raju wanted to clear the debt, Giri
insisted him to pay the amount at compound
interest. What is the difference in the amounts

between the two ?

o Watch Video Solution

3. A man borrows rs 12500 at 20% compound

interest.At the end of every year he pays rs


https://dl.doubtnut.com/l/_sk4igVMxESYW
https://dl.doubtnut.com/l/_Y6Ce7FUBmKiC
https://dl.doubtnut.com/l/_F0G3y4Xu71fL

2000 as part repayment.How much does he

still owes after three such installments?

° Watch Video Solution

4. A certain sum was deposited in a bank at 6%
per annum at simple interest for 3 years. Had
it been deposited at a rate of inetest 2% per
annum more, the interest received would have

been Rs. 750 more. Find the sum.

° Watch Video Solution



https://dl.doubtnut.com/l/_F0G3y4Xu71fL
https://dl.doubtnut.com/l/_aO0DYiCcrydF
https://dl.doubtnut.com/l/_h1VI786EOHOk

5.50. A sum was split into three parts. The first
to lent at 20% per annum for 2 years. The Part
the part was lent at 10% per annum for 5 years
third part was lent at 30% per annum for 4
yen Each was lent at simple interest and the
interest realised from each was the same Find
e o ally ratio of the first, second and third
parts. the times (a) 24000 b) 4200 um is (c) R
4400 d the (d) R 40000 S. A sum of money

amounts to 72000 in 3 year

o Watch Video Solution



https://dl.doubtnut.com/l/_h1VI786EOHOk

4

1. The simple interest on a sum of money is 9
times the principal and the rate of interest per

annum is numerically equal to the number of

years. Find the rate of interest per annum.

10
A —
3 o

15
B.?%
20
c.?%

15
D. —
5 v


https://dl.doubtnut.com/l/_MltatwvbMZbs

Answer: C

o Watch Video Solution

2. A certain sum becomes 3 times itself in 6

years at simple interest. In how many years will

it become 9 times itself ?

A.18

B. 20

C.24

D. 22


https://dl.doubtnut.com/l/_MltatwvbMZbs
https://dl.doubtnut.com/l/_tZ2qnpLBpjGy

Answer: C

o Watch Video Solution

3. A certain sum amounts to four times the

principal within a period of 2 years. The rate of

simple interest per annum is

A 15

B.0.15

C.1.5%

D. None of these


https://dl.doubtnut.com/l/_tZ2qnpLBpjGy
https://dl.doubtnut.com/l/_OedZxFkZ3BQn

Answer: A

o Watch Video Solution

4. A certain sum becomes Rs. 6400 in 4 years

and Rs. 8200 in 7 years at simple interest. Find

the pricipal.

A.Rs. 4000

B.Rs. 4200

C.Rs. 4400

D. Rs. 40000


https://dl.doubtnut.com/l/_OedZxFkZ3BQn
https://dl.doubtnut.com/l/_pLXiNWPiIvHT

Answer: A

o Watch Video Solution

5. A sum of money amounts to Rs. 2000 in 3
years and Rs. 2500 in 5 years at simple interst.

Find the rate of interest per annum.

1
A. 33§ %

1
B. 125 %

C.25%

D. 0.2


https://dl.doubtnut.com/l/_pLXiNWPiIvHT
https://dl.doubtnut.com/l/_I7PxMkDXjFaQ

Answer: D

o View Text Solution

6. What will be the compound interest on Rs.

15625 for 3 years at 8% per annum, if the

interest is compounded annually ?

A. Rs 4805

B. Rs. 4508

C. Rs. 4580

D. Rs. 4058


https://dl.doubtnut.com/l/_I7PxMkDXjFaQ
https://dl.doubtnut.com/l/_dNfo5VE8cHfO

Answer: D

o Watch Video Solution

7. The simple interest and the compound
interest on a certain sum for 2 years is Rs. 1250
and Rs. 1475 respectively. Find the rate of
interest.

A.36% per annum

B. 34% per annum

C.32% per annum


https://dl.doubtnut.com/l/_dNfo5VE8cHfO
https://dl.doubtnut.com/l/_6RLgdypHE2hD

D. 38% per annum

Answer: A

° Watch Video Solution

8. A person lent a certain sum of money at 12%
per annum simple interst. In 5 years, the
interest received was Rs. 250 less than the

sum lent. Find the sum letn. (in Rs.)

A. 500


https://dl.doubtnut.com/l/_6RLgdypHE2hD
https://dl.doubtnut.com/l/_ybMlABPKcWHF

B. 750

C.625

D. 1000

Answer: C

o Watch Video Solution

9. A certain sum becomes 3 times itself in 4
years at compound interest. In how many

years does it become 27 times itself ?


https://dl.doubtnut.com/l/_ybMlABPKcWHF
https://dl.doubtnut.com/l/_wSP5zgbd3qKC

A. 15 years

B. 12 years

C. 36 years

D. 21 years

Answer: B

o Watch Video Solution

10. At what rate of simple interest per annum,

does the interest on Rs. 1200 in 2 years equals


https://dl.doubtnut.com/l/_wSP5zgbd3qKC
https://dl.doubtnut.com/l/_Vycyxq9He3cM

, 7
the interest on Rs. 600 at 4 years at B % per

annum ?

3
A.Z%

7
B. — %

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Vycyxq9He3cM

11. The population of a village increases at a
rate of 5% every year. If the present
population of the village is 5620, find the
population after 1 year.

A. 5805

B. 6121

C. 5901

D. 6000

Answer: C

I o Wiadk hh \tAAA CAaliikianm



https://dl.doubtnut.com/l/_QECd4N6IEbyh

VVCILLIL VI INAGINIE L J

12. Kalyan purchased an old bike for Rs. 12000.
If its cost after 2 years is Rs. 11524.80, the rate

of depreciation is

A.1% per annum

B. 4% per annum

C.3% per annum

D. 2% per annum.

Answer: D

| s ]


https://dl.doubtnut.com/l/_QECd4N6IEbyh
https://dl.doubtnut.com/l/_g3KXboPuUiXt

| ¥ Watch Video Solution

13. Ram borrowed Rs. 8000 at 3% % per
annum compound interest for his family
needs. How much amount does he have to pay
to clear the debt at the end of one year and

three months ?
A. Rs. 8352.45
B. Rs. 8532.45

C. Rs. 8253.54

D. Rs. 8352.54


https://dl.doubtnut.com/l/_g3KXboPuUiXt
https://dl.doubtnut.com/l/_giNQKRKJJf5Y

Answer: A

o View Text Solution

14. Ravi borrowed Rs. 1000 from Sridhar at 3%
C.l. for the first year, 5% C.I. for the second
year. What amount does Sridhar get at the

end of the second year ?

A. Rs. 1081
B. Rs. 1081.50

C. Rs. 1082.50


https://dl.doubtnut.com/l/_giNQKRKJJf5Y
https://dl.doubtnut.com/l/_TQBp46wOmPHr

D. Rs. 1083

Answer: B

° Watch Video Solution

15. Saleem borrowed Rs. 20000 at compound

interest and paid Rs. 22050 after 2 years to

clear the debt. Find the rate of interest.

A.0.03

B. 0.05


https://dl.doubtnut.com/l/_TQBp46wOmPHr
https://dl.doubtnut.com/l/_0jyjbmgFvDRO

C. 0.04

D. 0.07

Answer: B

o Watch Video Solution

16. If Rs. 300 is the interest paid on a certain
sum at the rate of 5% per annum simple
interest for a period of 5 years, then find the

sum. (in Rs.)


https://dl.doubtnut.com/l/_0jyjbmgFvDRO
https://dl.doubtnut.com/l/_u17jtyUkzpXt

A. 1200

B. 1600

C. 2000

D. 1800

Answer: A

o Watch Video Solution

17. At what rate per cent per annum at
compound interest will the sum of Rs. 375

amount to Rs. 1029 in 3 years ?


https://dl.doubtnut.com/l/_u17jtyUkzpXt
https://dl.doubtnut.com/l/_fzTjk5LT1jPz

A. 20

B.30

C. 25

D. 40

Answer: D

° Watch Video Solution

18. A person borrowed a certain sum of money

at 16§ % per annum compound interest. He


https://dl.doubtnut.com/l/_fzTjk5LT1jPz
https://dl.doubtnut.com/l/_msKXCvQUjjGs

cleared the debt by paying Rs. 20825 at the

end of 2 years. Find the sum borrowed.

A.Rs. 15300

B. Rs. 15800

C. Rs. 14300

D. Rs. 14800

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_msKXCvQUjjGs

19. In how many years will a sum of Rs. 3200

compounded quarterly at the rate of 50% per

annum amount to Rs. 4050 ?

A. One year

B. Half year

C. Two year

D. Three years

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_NLXN2V6Z2PsT

20. Ramakrishna borrowed Rs. 160000 from
Anirudh at 10% per annum simple interest.
After 2 years, when Ramakrishna wants to
clear the debt, Anirudh insisted Ramakrishna
to pay him at compound interest. How much

more must Ramakrishna pay ?

A. Rs. 800

B. Rs. 1620

C. Rs. 1600

D.Rs. 810


https://dl.doubtnut.com/l/_zWm1q8lvMGrv

Answer: C

o View Text Solution

21. A certain sum triples in 4 years at

compound interest, interest being

compounded annually. In how many years

would it become 27 times itself ?

A9

B.10

C.12


https://dl.doubtnut.com/l/_zWm1q8lvMGrv
https://dl.doubtnut.com/l/_uiY7UDDvaw3J

D. 16

Answer: C

° Watch Video Solution

22. A sum of Rs. 5120 amounts to Rs. 7290 in 3
years at compound interest. Find the rate of

interest per annum.

1
A. 33§ %

1
B. 125 %


https://dl.doubtnut.com/l/_uiY7UDDvaw3J
https://dl.doubtnut.com/l/_g9DdkMRDbe4S

1
C.8§%

1
D. 17—
72%

Answer: B

o Watch Video Solution

23. The difference between the compound
interest and the simple interest on a certain
sum of money for 2 years at 11% per annum is

Rs. 363. Find the sum.


https://dl.doubtnut.com/l/_g9DdkMRDbe4S
https://dl.doubtnut.com/l/_SYjkirz5H5Jq

A.Rs. 33000

B. Rs. 31000

C. Rs. 30000

D. Rs. 32000

Answer: C

o View Text Solution

24. A sum of Rs. 3000 is partly lent at 3% per
: : 7
annum simple interest for 5 years and partly

at 2% per annum simple interest for 4 years. If


https://dl.doubtnut.com/l/_SYjkirz5H5Jq
https://dl.doubtnut.com/l/_45AIaaEDGwrU

total interest earned is Rs. 280, then the sum

lent at 3% per annum is

A. Rs. 1600

B. Rs. 1400

C. Rs. 1800

D. Rs. 2000

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_45AIaaEDGwrU

25. Find the simple interest (approximately) on

Rs.700 from 20 December 2006 to 20 June

2007 at 6% per annum (in Rs.)

A 24

B. 27

C. 28

D. 21

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_KMNadcczq4Rg

26. A sum of money triples itself in 3 years at

compound interest. In how many years will it

become 9 times itself ?

A 4

B.9

C.6

D.7

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_UpfIr7v7t9DF

27.Raju invested a sum of Rs. 5832 at a rate of
interest n% per annum, compounded annually.
Find the value of n, if he received a sum of Rs.

13824 after 3 years.

A331
3

B332
3

4
C.33+%
3

D335
3

Answer: A

I o Watch Video Solution


https://dl.doubtnut.com/l/_WYFJQSiHOUQA

28. A sum of Rs. 2500 is invested for 2 years at
20% per annum, interest compounded half-
yearly. Find the compound interest.

A. Rs. 3660.25

B. Rs. 1660.25

C. Rs. 1160.25

D. Rs. 1330

Answer: C

| s ]


https://dl.doubtnut.com/l/_WYFJQSiHOUQA
https://dl.doubtnut.com/l/_cxQfd2Vb0XIC

| ¥ Watch Video Solution

29. Alok borrowed a certain sum on 9 July 2006
and paid an amount of Rs. 438 which included
an interest of Rs. 6 on 8 November 2006. Find
the rate of interest, charged to Alok per

annum.

1
A.6z%

1
B.4E%

4

c.1g%

1
D. 13§ %


https://dl.doubtnut.com/l/_cxQfd2Vb0XIC
https://dl.doubtnut.com/l/_7tLrT2OfAO8X

Answer: B

o View Text Solution

30. A certain sum amounts to Rs. 4500 in 25

years at 20% per annum simple interest. Find

the sum (in Rs. ).

A. 3000

B. 2400

C. 2700

D. 3600


https://dl.doubtnut.com/l/_7tLrT2OfAO8X
https://dl.doubtnut.com/l/_WyZRgCx9fceT

Answer: A

o Watch Video Solution

31. A certain sum was lent at R% per annum at
compound interest for 2 years. In which of the
following cases would it fetch the maximum
interest ?

A. Interest is calculated annually.

B. Interest is calculated semi-annually.

C. Interest is calculated quarterly.


https://dl.doubtnut.com/l/_WyZRgCx9fceT
https://dl.doubtnut.com/l/_MEOsGpXFtwXF

D. Interest is calculated three times a year.

Answer: C

o Watch Video Solution

1. Sushma deposited Rs. 6500 which amounted
to Rs. 7800 in 4 years at simple interest. Had
the interest been 2% more per annum, how

much would she have received ? (in Rs.)


https://dl.doubtnut.com/l/_MEOsGpXFtwXF
https://dl.doubtnut.com/l/_516cEZzSZlby

A. 8000

B. 8500

C. 7600

D. 8320

Answer: D

o Watch Video Solution

2. The cost of a scooter is Rs. 10000. Its value

depreciates at the rate of 8% per annum .


https://dl.doubtnut.com/l/_516cEZzSZlby
https://dl.doubtnut.com/l/_Rgg1yeN9HuyQ

Calculate the total depreciation in its value at

the end of 2 years.

A.Rs. 1536

B.Rs. 1356

C. Rs. 1653

D. Rs. 1356

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_Rgg1yeN9HuyQ

3. A person borrowed Rs. 8000 at 2% % per
annum under SJI. The sum borrowed is
immediately given to another person at the
same rate on the condition that the interest is
compounded semi-annually. Find the amount

gained by the first person in one year.
A.Rs. 3.25
B.Rs. 2.25

C.Rs.1.25

D. Rs. 0.25


https://dl.doubtnut.com/l/_EHwZULfaktOQ

Answer: C

o View Text Solution

4. A boy's height is increasing at the rate of
2% when compared to that of the previous
year. If his present height is 156.06 cm, what
was his height two years ago ?

A. 148 cm

B.150 cm

C.152 cm


https://dl.doubtnut.com/l/_EHwZULfaktOQ
https://dl.doubtnut.com/l/_jgZA4ZuCmpIM

D. 151 cm

Answer: B

° Watch Video Solution

5.Ramu invested a sum of Rs. 12500 at 12% per
annum compound interest. He recevied an
amount of Rs. 15680 after x years. Then, the

value of x is

Al


https://dl.doubtnut.com/l/_jgZA4ZuCmpIM
https://dl.doubtnut.com/l/_zqurnNTQT61C

B.4

C.3

D.2

Answer: D

o Watch Video Solution

6. The rate of interest for a sum that becomes

2
% times itself in 2 years, when compounded

annually, is


https://dl.doubtnut.com/l/_zqurnNTQT61C
https://dl.doubtnut.com/l/_35YpRspEUZR1

32
A.?%

12
B. — %

25
C.— %

12
D. — %

Answer: C

o Watch Video Solution

7. A person deposited Rs. 6000 in a bank for 2
years. At the end of the first year, he withdrew

Rs. 500. How much does he get from the bank


https://dl.doubtnut.com/l/_35YpRspEUZR1
https://dl.doubtnut.com/l/_j9qLPBFZ5JTY

at the end of the second year interest paid at
a rate of 8§ % per annum compounded
annually ?

A. 6500

B. 7000

C.6725

D. 6025

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_j9qLPBFZ5JTY
https://dl.doubtnut.com/l/_01oPctgX3KMK

8. A sum amounts to Rs. 3600 at 2% per
annum under simple interest and Rs. 4800 at
4% per annum under simple interest. The time

taken is _

A. 2.5 years

B. 3 years

C. 30 years

D. 25 years

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_01oPctgX3KMK

9. Find the compound interest on Rs 50,000

for 3 years, compounded annually, and the
rate of interest being 10 % ,12% and 15 %
for the three successive years, respectively.

A. 20840

B. 70840

C. 60720

D. 67560

Answer: A


https://dl.doubtnut.com/l/_01oPctgX3KMK
https://dl.doubtnut.com/l/_k5JzrY6ZijfO

o Watch Video Solution

10. A person invested one-fifth of the capital at
5% per annum, one-sixth of the capital at 6%
per annum and the rest at 10% per annum
simple interest. If the annual interest received
on his investment is Rs. 150, then find the

capital. (in Rs.)

A. 1000

B. 1500

C. 2000


https://dl.doubtnut.com/l/_k5JzrY6ZijfO
https://dl.doubtnut.com/l/_8eZCS6MM3F6Y

D. 1800

Answer: D

° Watch Video Solution

11. Kailash set up a factory by investing Rs.
1000000. During the first two years, his profits
were 10% and 15% respectively. If he
reinvested the profit of each year at the
beginning of the next year, his total profit (in

Rs.) is


https://dl.doubtnut.com/l/_8eZCS6MM3F6Y
https://dl.doubtnut.com/l/_I2EzjdHKVpTW

A. 265000

B. 25000

C. 275000

D. 27060

Answer: A

o Watch Video Solution

12. In what time will the sum of Rs. 1875 yield a
compound interest of Rs. 477, at 12% per

annum, compounded annually ?


https://dl.doubtnut.com/l/_I2EzjdHKVpTW
https://dl.doubtnut.com/l/_JgwV1aCOS4d7

A. 2 years
B. 1 years
C. 3 years

1
D. 15 years

Answer: A

o Watch Video Solution

13. Find the simple interest on Rs. 1098 at 5%

per annum from 5 May 1996 to 25 May 1996.


https://dl.doubtnut.com/l/_JgwV1aCOS4d7
https://dl.doubtnut.com/l/_0wTAurYs2jey

A.Rs. 5

B.Rs.7

C.Rs.3

D.Rs. 4

Answer: C

° Watch Video Solution

14. A certain sum was invested at a certain rate

at simple interest. It took 8 years to quadruple


https://dl.doubtnut.com/l/_0wTAurYs2jey
https://dl.doubtnut.com/l/_kiI1qvkjIuRy

the sum. Find the time it would take to
become 10 times itself (in years).

A. 18

B. 24

C.36

D. 30

Answer: B

0 Watch Video Solution



https://dl.doubtnut.com/l/_kiI1qvkjIuRy

15. A certain sum amounts to Rs. 900 at simple
interest in 5 years. It amounts to Rs. 1020 at
the same rate at simple interest in 7 years.
Find the sum (in Rs.).

A. 500

B. 550

C. 650

D. 600

Answer: D

‘ o Wiak~lh \tAAA CAaliikianm



https://dl.doubtnut.com/l/_IenuYYnI1rKe

VVCILLIL VI INAGINIE L J)

16. Find the difference between the simple
interest and the compound interest on Rs.
15000 at 12% per annum for 2 years (in Rs. ).

A. 216

B. 240

C. 180

D. 192

Answer: A

| s |


https://dl.doubtnut.com/l/_IenuYYnI1rKe
https://dl.doubtnut.com/l/_wjdi6p68hAHp

| ¥ Watch Video Solution ]

17. If a sum was Rs. 10000 more and was lent at

S.I. for 2 years at 10% per annum, then the

extra interest would be __ (in Rs.).

A. 4000

B. 1000

C. 2000

D. 500

Answer: C



https://dl.doubtnut.com/l/_wjdi6p68hAHp
https://dl.doubtnut.com/l/_gTnCcdoWf2WT

\ o Watch Video Solution

18. Rs. 2000 was lent at 40% per annum at
simple interest for 1 year. If interest on it was
at compound interest and compounded

quuarterly, then the amount obtained would

be

A. 64.10 more

B. 64.10 less

C.128.20 less


https://dl.doubtnut.com/l/_gTnCcdoWf2WT
https://dl.doubtnut.com/l/_iLrBc0GoEQ6i

D. 128.20 more

Answer: D

° Watch Video Solution

19. Find the simple interest on Rs. 3000 at 10%
per annum from January 1, 2007 to March 15,
2007 (in Rs.)

A. 60

B. 120


https://dl.doubtnut.com/l/_iLrBc0GoEQ6i
https://dl.doubtnut.com/l/_zbxERSp8z0nZ

C.90

D. 180

Answer: A

o Watch Video Solution

20. A certain sum was invested at a certain
rate of simple interest. It took 20 years to
quadruple. Find the time that the sum would
take to become 9 times, if the rate of interest

was 5 percentage points more (in years).


https://dl.doubtnut.com/l/_zbxERSp8z0nZ
https://dl.doubtnut.com/l/_S2KHrMoKUyne

A.30

B.36

C.40

D. 45

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_S2KHrMoKUyne

1. Suresh and Naresh borrowed Rs. 62500 and
Rs. 60000 respectively for a period of 2 years.
Suresh paid simple interest at the rate of 4%
per annum, while Naresh paid compound
interest at the same rate compounded
annually. Who paid more interest and by how

much ?

A. Naresh paid more by Rs. 104

B. Suresh paid more by Rs. 104

C. Naresh paid more Rs. 94


https://dl.doubtnut.com/l/_wyRnbIXshblN

D. Both paid the same interest

Answer: B

o Watch Video Solution

2. The simple interest and compound interest
on a certain sum for 2 years are Rs. 2400 and
Rs. 2640 respectively. The rates of interests (in
% per annum) for both are the same. The

interest on the sum lent at compound interest


https://dl.doubtnut.com/l/_wyRnbIXshblN
https://dl.doubtnut.com/l/_g9gTXbGULsfL

is compounded annually. Find the rate of

interest (in % per annum).

A.30

B. 20

C. 25

D.10

Answer: B

0 Watch Video Solution



https://dl.doubtnut.com/l/_g9gTXbGULsfL

3. A sum was split into three parts. The first
part was lent at 10% per annum for 4 years.
The second part was lent at 20% per annum
for 6 years. The third part was lent at 30% per
annum for 5 years. Each part was lent at
simple interest and the same amount of
simple interest was realised from each. Find

the ratio of the first, second and third parts.

A.15:5:2

B.20:7:2

C.15:5:4


https://dl.doubtnut.com/l/_xEpxOXywFfnK

D.20:9:4

Answer: C

° Watch Video Solution

4. A doctor wants to divide Rs. 145000
between his son and daughter who are 12
years and 14 years respectively, in such a way
that the sum invested at the rate of 12l %

2

per annum compounded annually will give the


https://dl.doubtnut.com/l/_xEpxOXywFfnK
https://dl.doubtnut.com/l/_EOHtvGmATmze

same amount to each, when they attain 16

years. How should he divide the sum?

A.Rs. 81000 to son and Rs. 64000 to

daughter

B.Rs. 64000 to son and Rs. 81000 to

daughter

C.Rs. 45000 to son and Rs. 1000000 to

daughter

D.Rs. 1000000 to son and Rs. 45000 to

daughter


https://dl.doubtnut.com/l/_EOHtvGmATmze

Answer: B

o Watch Video Solution

5. Given that carbon-14 (C44) decays at a
constant rate in such a way that it is reduced
to 25% in 1244 years. Find the age of a tree in

which the carbon is only 6.25% of the original.

A. 3122 years
B. 3210 years

C. 3124 years


https://dl.doubtnut.com/l/_EOHtvGmATmze
https://dl.doubtnut.com/l/_yfrKJPOEfvtp

D. 3214 years

Answer: C

o Watch Video Solution

6. Rs. 2800 was split into two parts. One part
was lent at 20% per annum simple interest for
10 years. The other part was lent at 25% per
annum simple interest for 20 years. Each part
yielded equal interest. Find the lower part (in

Rs.).


https://dl.doubtnut.com/l/_yfrKJPOEfvtp
https://dl.doubtnut.com/l/_vlkNAH17zSEK

A. 800

B. 900

C. 1000

D. 1200

Answer: A

o Watch Video Solution

7. Rs. 6000 was lent at compound interest for
2 years. The rates of interest for the first and

second years were 10% per annum and 30%


https://dl.doubtnut.com/l/_vlkNAH17zSEK
https://dl.doubtnut.com/l/_NGASHfkT33qK

per annum respectively. If the rate of interest
each year had been 20% per annum, then the
additional amount obtained would have been
(in Rs. ).

A. 60

B.30

C.90

D. 120

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_NGASHfkT33qK

8. The value of a motor cycle is Rs. 80000 and
its value depreciates by 20% every year, with
respect to its value at the beginning of the
year. What is the profit earned by selling the
motor cycle at the end of the 2nd year at Rs.

53600 ?

A.Rs. 2200

B. Rs. 2400

C.Rs. 2300

D. Rs. 2100


https://dl.doubtnut.com/l/_NGASHfkT33qK
https://dl.doubtnut.com/l/_q4nevlcImC5s

Answer: B

° Watch Video Solution

9. Govind has two sons. Their ages are 10 years
and 8 years. He plans to invest a total of Rs.
1.22 lakh in the names of the two sons at 20%
per annum compound interest. Those sums
had to be such that when the sons attained
the age of 18 years, would receive equal
amounts. How much does he plan to invest in

the name of his older son (in lakhs of rupees) ?


https://dl.doubtnut.com/l/_q4nevlcImC5s
https://dl.doubtnut.com/l/_2RRyGAXXTO8D

A. 0.96

B.0.72

C.0.84

D.1.08

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_2RRyGAXXTO8D

